
Part-A ( Class 6th)( 1-Mark Questions) 

MCQ / bhu-ivklpI pRSn / Blanks/ True False                                               

1) auh pUrn sMiKAw ds̀o ijs dw koeI ipCyqr nhIN huMdw[ 

    Give a whole number which does not have any predecessor? 

    A) 0     B) 1     C) 2        D)3 

2)ie`k sMiKAw nwl Bwg dyx dw ArQ hY ik aus sMiKAw nMU vwr-vwr ……………[ 

        A) joVnw     B) Gtwauxw    C) guxw krnw        D)Bwg dyxw 
    Meaning of division by a number is considered as the repeated…………….. 

       A)Addition     B) subtraction     C) multiplication       D)division 

 

 

3) '5 x 4= 4 x5' pUrn sMiKAwvW dI guxw dy iks gux nUM drsw irhw hY? 

      A) smwpx     B) kRmvtWdrw    C) guxwqmkqqsmk        D)sihcwirqw 
   Which property of multiplication of  whole number is represented by '5 x 4= 4 x5'? 

      A)closure     B) commutative     C) multiplicative identity       D)associative property 

 

4)hyTW idq̀I sMiKAw ryKw kI drsw rhI hY?What does the number line given below represent? 

 

          A) 4+2=6     B)6-4=2      C)6-2=4        D)iehnW ivco koeI nhI 

5) hyTW idq̀I sMiKAw ryKw kI drsw rhI hY ? What does the number line given below represent?

 
 

           A) 3+5=8     B) 3+8=11      C) 3×8=24        D) ienW ivco koeI nhI 
 

6) hyTW idq̀I sMiKAw ryKw kI drsw rhI hY ? What does the number line given below represent? 

 
           A) 4+3=7     B) 4×3=12      C) 4+8=12        D) ienW ivco koeI nhI 

7) jykr a Aqy b do pRwikRqk sMiKAwvW hox qW hyT iliKAw iv`co ikhVw kQn s`c nhIN hY[ 

     If a and b  are any two natural numbers then which of the following statement is not true? 

         A) a+b=b+a     B) ab=ba         C) a-b=b-a      D) ieMnW ivc̀o koeI nhI 
 

8) sB qoN vF̀I irxwqmk sMpUrn sMiKAw ____hY[ ( 1 /-1/0/-10) 
     _______ is the greatest negative integer. ( 1 /-1/0/-10) 
9) hyT ilKy pYtrn iv`c Aglw pg ikhVw hovygw? 

   What will be the next step in the given pattern? 

   3-3=0 

   3-2=1 

   3-1=2 



   3-0=3 

   ……… 

          A) 4-0=4          B)4-4=0            C)3-(-1)=4           D)2-2=0 

10) ie`k kwr pwrikMg ivc̀ 68 kqwrW hn[ hryk kqwr ivc̀ 92 kwrW hn[         
   kwrW dI kùl igxqI pqw kro[    

In car parking there are 68 rows. Each row contain 92 cars. 

Find the total numbers of cars? 

       A)  6276           B)  6256         C)  6176       D)  6356 
 

11) '12 sybW ivc̀oN 3 syb Kwx qoN bwAd 9 syb bwkI bcy' qW ds̀o hyT iliKAw ivc̀oN ikhVw ies kQn 
leI shI hY? 

       Which of the following represents the statement correctly “3 apples eaten from 12 and 9 apples 

are left behind.” 

     (a) 12-3=9    (b)12+3+15   (c)12-9=3               (d)12+9=3 

 

12)ie`k hwl ivc̀ peIAW 50 kursIAW iv`coN jy 32 BrIAW hox Aqy 18 KwlI hox qW hyT idìqAW vc̀o    
ikhVw shI hY? 

      Which of the following represents the statement correctly “ in a hall 32 chairs are filled from 

total of 50 and 18 are vacant”. 

   (a) 50+32 =18    (b) 50 ÷32 = 18    (c) 50-32 =18   (d)   50 + 18 = 32 

  
13) ie`k idn iksdy brwbr huMdw hY[  

(a) 12x12 GMty   (b) 60x60 sYikMf (c) 24x 60 imMt    (d) 360 swl 

       One day is equal to…………… 

(a) 12x12 hours   (b) 60x60 seconds   (c) 24x 60 mintues    (d) 360 years 

14) pUrn sMiKAwvW dy leI ………guxwqmk qqsmk hY[( 0 / 1/ 2/  -1) 
For whole numbers……. is a multiplication identity.  ( 0 / 1/ 2/  -1) 
     

15) pUrn sMiKAwvW dy leI ………joVwqmk qqsmk hY[( 0 / 1/ 2/  -1) 
    For whole numbers……. is an additive identity. ( 0 / 1/ 2/  -1) 
16) isPr nwl Bwg …………… hY[ (1 /  0  / -1 / pirBwiSq nhI ) 
 

      Division with zero is………..  (1 /  0  / -1 / not defined) 

               

17) Sixth multiple of 13 is 65. ( True/false) 

     13 dk S/tK r[Di 65 j?   (shI/glq) 
           a)    78      b)       65        c)      52        d)      91 

18) The sum of two odd numbers and one even number is : 

a)      even       b)      odd      c)       prime     d)      composite 

    d' NKe ;zfynktK ns/ fJZe fi;s ;zfynk dk i'V j[zdk j?L 
a)      fi;s       b)     NKe      c)       nGki     d)      Gki 
 

19) Which of the following number is divisible by 9? 

     j/m fbZfynk ftZu'A fejVh ;zfynk 9 Bkb Gki:'r j?< 

a)     15287      b)        15267         c)       15286       d)          154638 

20) If 4=2×2, 15=3×5, then H.C.F. of 4 and 15 is  



      i/eo 4=2×2, 15=3×5 j't/, sK 4 ns/ 15 dk wH;HtH j't/rkL 
a)    0         b)        1       c)        2        d)      3   

21) Which number is a factor of every number? 

      fejVh ;zfynk jo/e ;zfynk dk r[DByzv j[zdh j?< 

a)    -1      b)        0      c)        1       d)      none of these (T[go'es ftZu'A e'Jh Bjh) 
22) Which of the following number is a perfect number? 

       j/m fbZfynK ftZu'A fejVh fJZe nkdoP ;zfynk j?< 

a)    8         b)        6       c)        28        d)      both b and (b ns/ c ) 
  

23)  ______ is even prime number . ( 0 /2/4/6) 

       _______ fi;s nGki ;zfynk j?   ( 0 /2/4/6) 

 

24) The numbers having only two factors are called: 

     T[j ;zfynktK fizBK d/ isrP d' jh r[DByzv j'D ------------------ ejkT[AdhnK jBL 

a)    Even (fi;s )     b)     odd (NKe)    c)    prime (nGki )    d) Composite (Bwj) 
25) Which natural number is neither prime nor composite? 

      T[j fejVh gqkfeqfse ;zfynk j? fijVh Bk sK Gki j? ns/ Bk jh nGki< 

a)    0         b)        1      c)        2       d)      -1 

26)  Which of the following pair is co-prime? 

       j/m fbZfynK ftZu'A fejVk ;fj^nGki ;zfynktK dk i'Vk j?< 

a)    6 and 8     b)   18 and 35     c)   7 and 35    d)  30 and 415 

27) The product of H.C.F and L.C.M of two numbers is equal to  

        d' ;zfynktK d/ wH;HtH ns/ bH;HtH dh r[Dk pokpo j[zdh j?L 
a) sum of numbers (;zfynktK d/ i'V d/)    
b)Difference of numbers ( ;zfynktK d/ xNkU d/)    
c) Product of numbers (;zfynktK dh r[Dk d/)   

d) Division of  numbers (;zfynktK dh Gkr d/) 
28)  Predecessor of 10900 is   10889. ( true/false) 

      10900 dI ipCyqr sMiKAw 10889 hY[  (shI/glq) 
          a)  3×3×11×101     b)  9×11×101    c)  3×33×101     d)  3×3×11×11 

29) H.C.F. of two Co-prime numbers is: 

     d' ;fj^nGki ;zfynktK dk wH;HtH j[zdk j?L 
a)    0         b)        1       c)        2        d)      3   

30) How many multiples are there of any given number? 

      fJZe fdZsh j'Jh ;zfynk d/ r[DiK dh ;zfynk eh j't/rh< 

a)  finite (;hfws )    b)    Infinite (A;hfws )   c)     1000    d)  100000 

 

31) What is the H.C.F of two consecutive even numbers? 

        d' brksko fi;s ;zfynktK dk wH;HtH eh j't/rk< 
 

a)    1      b)        0       c)        2        d)      4   

 
32) idq̀y gey icq̀r nUM vyK ky hyT idq̀y KwlI QW Bro: 

a) PQR dy AMdrUnI Bwg ivc̀ siQq ibMdU:_____________ 

 Points in the interior part of the PQR:________ 

 



b) PQR dy bwhrI Bwg ivc̀ siQq ibMdU:_____________ 

 Points in the exterior part of the PQR:________ 

 

c) PQR aupr siQq ibMdU: _________________   

      Points lying on the PQR:________ 

 
33) hyT idìqAW ivc̀oN ikhVw icq̀r iqRBuj nMU drswaNudw hY[ 

      Which of the following figure represent a triangle. 

 
              a)                                           b)                                      c)                                                     d) 

34) ic̀qr dyK ky shI  imlwn kro: 
Match the column  by observing the given figure: 
(i) ABC    a) 1 
(ii) BAC    b) 2 
(iii) ACD    c) 3 
iv DCB                                d) 4 
(v) CDB    e) 5 
(vi) CDA    f) 6 

 
35) do ibMdUAW ivc̀oN ikMnIAW ryKwvW lMGdIAW hn? 

   How many lines passes through two points?  
    a) ie`k (one)  b) do (two) c) Axigxq (infinite) d) koeI vI nhI (none) 

 
36) cwr Bujw vwly bhuBùj nMU ________ AwKdy hn[ 

   Polygon with four sides is  called_______. 
       a) iqRBuj (Triangle)     b) cqrBuj (quadrilateral    

      c) pMjBuj (pentagon)                  d) iehnW ivc̀o koeI nhI (none of these) 

37)  vkr ijsdy isry Awps ivc̀ bMd hox,__________ vkr AKvwauNdI  hY[ 

          Curve with closed ends is called______.  
              a) ryKw (line)             b) KulI vkr (Open curve)         
       c) bMd vkr (Closed curve)  d)  ienHW ivc̀oN koeI vI nhI (none of these) 

 
38)  icq̀r Anuswr shI/glq ds̀o[State true/false using the figure.  

1). AC iek̀ ikrn hY[ AC is a ray. 

2). AB dI kwtvIN ryKw DC hY[ AB is transversal of DC. 

3) ryKw BC ibMdU O ivc̀oN lMGdI hY[ Line BC passes through point O. 

   4). ryKw jo D ivc̀o nw gujr rhI hovy, PA hY[ Line PA is not passing 

through point D. 
39) ck̀r dI sB qoN vf̀I jIvw _____ khwauNdI hY[ 

    The biggest chord of circle is called______ 

 a) ArD ivAws (Radius)       b) kyNdr (center)      

        c)  iehnW ivc̀o koeI nhI (None of these)    d) ivAws (Diameter) 

 



40) cqurBuj ivc̀ ikMny kox huMdy hn? 

           How many angles are there in a quadrilateral?                                                                                                  
        a) iek̀ (one) b) do (two) c) iqMn (three) d) cwr (four) 

 
41) hyT idìqAW ivc̀oN iksdw AwrMiBk ibMdU nhI huMdw? 

      Which of the following has no starting point? 
a)  ryKw (line)      b)ikrn (ray)       c)ryKw KMf (line segment)    d) iehnW ivc̀o koeI nhI (None of 

these)   

 
42) shI/glq dso[State true/false. 

1) iksy iqRBuj dw isrP iek̀ ivkrn huMdw hY[A triangle has only one diagonal. 

2) cqrBuj dy do ivkrn huMdy hn[A quadrilateral has only two diagonals. 

3) iek̀ bMd vkr hI bhuBùj ho skdI hY[Only a closed curve is called a polygon. 

4) ie`k bhuBuj ryKw KMfW dI bxI ho skdI hY[A polygon  may be made up of line segments. 

5) Awieq nMU cqrBuj nhIN AwiKAw jw skdw[A rectangle is not a quadrilateral. 

6) iek̀ gyNd ck̀r dI audwhrx hY[A ball is an example of a circle. 

7) ck̀r dw kyNdr ck̀r dy AMdr siQq huMdw hY[The center of a circle lies inside the circle. 

8) iksy vI ryKw aùpr Axigxq ibMdU hn[A Line has infinite points. 

43)    iqRBuj ijsdIAW iqMny BujwvW brwbr hox, iek smdoBujI iqRBuj AKvwauNdI hY[ ( shI /glq) 
     Triangle whose all sides are equal is called isosceles triangle. ( true/Fase) 

44)  do ryKw KMfW dI qulnw krn leI ikhVw qrIkw shI hY? 

    What is the correct way to compare two line segments? 

(a) dyKky qulnw krnI (Comparison by observation )     

(b) Put̀y rwhIN qulnw (Comparison by using ruler)  

(c) ivBwjk rwhIN qulnw (Comparison by using divider)    

(d) ienHW ivc̀oN koeI nhIN ( None of  these) 
 

45) ikMny smkoxW nwl 1800 bxdy hn? 

    How many right angles makes 1800? 

 (a) 4                     (b)3                      (c) 2                (d) 1 

 

46) jdoN GVI qy 2 vjy huMdy hn qW imMt dI sUeI qy GMty dI sUeI Awps ivc̀ iks iksm dw kox    
bxwauNdIAw hn? 

   Which type of the angle does an hour hand and minute hand of a clock make at 2 o’clock 

 (a) inaUn kox (Acute   angle)     (b) smkox (Right amgle)           
 (c) AiDk kox ( Obtuse abgle)     (d) srl kox ( Straight angle) 

 

47)  kox mwpk (fI) ikMny ifgrI qk̀ kox mwp skdI hY? 

   What is the maximum angle that can be measured using protractor (D)? 

 (a) 600             (b) 900                        (c) 1800                    (d) 2700 

 

48) lMb ryKwvW Awps iv`c ikhVy iksm dy kox qy k`tdIAW hn? 

  At which angle, do the perpendicular lines intersect each other? 

 ((a) inaUn kox (Acute   angle)     (b) smkox (Right amgle)           
 (c) AiDk kox ( Obtuse abgle)     (d) srl kox ( Straight angle) 

49) ie`k iqRBuj dy iqMn AMdrUnI koxW sMbMDI ikhVw kQn shI hY[ 

    Which statement is true about the interior angles of a triangle. 



 (a) iqMnoN inaUn kox ho skdy hn[ (All angles may be acute ) 

   (c) iqMnoN AiDk kox ho skdy hn[ (All angles may be obtuse)  
 (b) iqMnoN smkox ho skdy hn[ (All angles may be right angle )                   
   (d) ienHW iv`coN koeI nhIN ( None of These) 

 

50) iek̀ ibKm BujI iqRBuj dy iqMnoN AMdrUnI koxW dy mwp bwry ikhVw kQn shI ho skdw hY[ 

    Which of the following is true about measure of interior angle of scalene triangle?   

   (a)  swry kox brwbr ( All ngles are equal)    (b) do kox brwbr (Two angles are equal)             
(c) iqMnoN kox Alg-Alg ( Three angles are unequal)    (d) ienHW iv`co koeI nhIN ( None of these) 

 

51) 0.5 + 0.5 =______ 
 

    (a) 0.10   (b) 0.01       (c) 1.0     (d) 10 

 

52) 0.2 - 0.02 =______ 

 (a) 0  (b) 0.22       (c) 1.8    (d) 0.18 

53)   Every integers less than Zero (0) has the sign. 

isPr qNoN CotI swrIAw sMpUrn sMiKAwvW dw inSwn huMdw hY[ 

a.  +                             b. -             c. ×               d.  
54)  The integer 5 units to the right of zero (0) on the number line is. 

ie`k sMpUrn sMiKAw ryKw qy isPr s'A 5 fJekJhnK s`jy pwsy ikhVI sMpUrn sMiKAw huMdI hY[ 

a. +5                           b. -5                           c. +4                          d. -4 

55)  The predecessor of the integer -1 is. 
-1 dI ipCyqr sMpUrn sMiKAwvW ikhVI hY[ 

a. 0                             b. 2                              c. -2                           d. 1 

56)    How many integers are there   between -1 and  1? 

-1 Aqy 1 ivckwr ikMnIAW sMpUrn sMiKAwvW hn[ 

a.1                              b. 2                              c. 3                             d. 0 

57)  Number of whole numbers lying between -5 and 5. 

-5 Aqy 5 ivckwr ikMnIAW pUrn sMiKAwvW hn[ 

a. 10                           b. 6                              c. 9                             d. 5 
58) The greatest integer lying between -10 and -15 . 

-10 Aqy -15 ivckwr sB qoN v`fI sMpUrn sMiKAw: 

a. -10                         b. -11                         c. -15                         d.-14 

 

59) The least integer lying between -10 and -15. 

-10 Aqy -15 ivckwr sB qo CotI sMpUrn sMiKAw: 

a. -10                         b. -11                         c. -15                         d.-14 

 

60) Every Negative Integers is less than………….. 

hryk irxwqmk sMpUrn sMiKAw hmySw ……… qoN CotI huMdI hY[ 

a. 0                             b. -10                              c. -1                           d. -2 

61) The additive inverse of a negative integer is………... 

irxwqmk sMpUrn sMiKAwvW dw joVwqmk ault hmySw…………huMdw hY[ 



a. always negative (irxwqmk)                b. always positive (Dnwqmk) 
        c. same integer (auhI sMiKAw)                d. Zero (isPr) 

 

62)    Which of the following shows the maximum rise in temperature? 

hyTW iv`coN ikhVw sB qo vD̀ qwpmwn dy auCwl nUM drSwaudw hY? 

a. 00C to (qNo) 100C        b. -40C to (qNo) 80C        c. -150C to (qNo)-80C   d. -70C to (qNo) 00C 

True/ False (shI/ glq) 

63) The Smallest natural number is Zero. 
isPr sB qo CotI pRwikRiqk sMiKAw hY[ 

 

64)  Zero is not an integer. 
isPr sMpUrn sMiKAw nhIN hY[ 

 

65) The successor of the integer 1 is 0. 

    1 dw Agyqr 0 hY[ 

 

66)  All whole numbers are integers. 

swrIAW pUrn sMiKAw, sMpUrn sMiKAwvW hMudIAw hn[ 

 

67) All integers are whole numbers. 

swrIAW sMpUrn sMiKAw, pUrn sMiKAwvW hMudIAw hn[ 

 

68)  Zero is greater than every negative integer. 

isPr swrIAW irxwqmk sMpUrn sMiKAwvW qo vf̀w huMdw hY[ 

 

69)  Smallest integers is Zero (0). 

sB qo CotI sMpUrn sMiKAw isPr huMdI hY[ 

70)   The sum of an integer and its additive inverse is always zero (0). 

ie`k sMpUrn sMiKAw Aqy ies dy joVwqmk ault dw joV hmySw isPr huMdw hY[ 

71)   -2 is to the left of -5 on the number line. 

ie`k siKAw ryKw qy -2, -5 dy K̀by pwsy huMdw hY[ 

72)   The sum of two positive integers is greater than both the integer. 

do sMpUrn sMiKAwvw dw joV hmySw auhnw sMiKAwvW nwlo vD̀ huMdw hY[ 

Fill in the Blanks (KwlI QwvW Bro) 

73)   On the number line -15 is to the ………………….. of Zero (0) 

ie`k sMiKAw ryKw aùqy -15 isPr dy…………… huMdw hY[ 

74)      The additive inverse of 14 is …………………. 

14 dw joVwqmk ault …………… hY[ 

75)   The additive inverse of -1 is…………………. 

-1 dw joVwqmk ault …………… hY[ 

76)    The number of integer lying between -5 and 15 is…………… 

-5 Aqy 15 ivckwr…………………sMpUrn sMiKAwvW huMdIAW hn[ 

77) What fraction of the day is 6 Hours? 



 6 GMty ie`k idn dI ikhVI iBMn hY? 

 a. 1/4  b.1/6  c. 1/12 d.1/2 

 

78)  What fraction of the given figure is shaded? 

 idq̀y hoey icq̀r iv`c CwieAw AMikq Bwg dI ikhVI iBMn hY? 

 a. 2/6   b. 6/8  c.2/8  d.  3/8 

 

79) Which of following is the equivalent fraction of 2/3 with denominator 15? 

 hyT iliKAW ivc̀oN ikhVI, iBMn 2/3 dI hr 15 nwl qùl hY? 

 a. 10/15 b.12/15 c. 11/15 d.18/15 

 

 

80) Which of the following is a proper fraction? 

 hyT iliKAW ivc̀oN ikhVI iBMn aùicq hY? 

 a. 5/4      b. 7/4  c. 11/4 d. 1/24 

 

81) Which of the following is the difference between 7/8 and 3/8? 

 hyT iliKAW ivc̀oN 7/8 Aqy 3/8 dw AMqr ikhV whY? 

 a. 4/5       b. 1/2 c. 2/3     d. 10/5 

 

82) Surinder eats half chapati and Ravi eats one & half chapaties. The total number of chapaties  

eaten by both are? 

suirMdr AD̀I rotI KWdw hY Aqy rvI iek̀ Aqy AD̀I rotI KWdw hY[doNnw ny k`ul ikMnIAW rotIAW 
KwDIAW? 

a. 3  b. 4 c. 1 d. 2 

83) The fraction which is not equivalent  to  4/5 is 

 ikhVI iBMn 45 dy qùl nhIN hY 
 a. 40/50 b. 12/15 c. 16/20 d. 9/15 

 

84) When 1/4 is written with denominator as 12, its numerator is________? 

 jykr 1/4 dy hr nMU 12 iliKAw jwvy qW iesdw AMS hovygw________? 

 a. 3 b. 8 c. 12 d. 24 

85)    Which of the following is not in the lowest form? 

 hyT iliKAW ivc̀oN ikhVI Awpxy inaUnqm pd ivc̀ nhIN hY? 

 a. 7/5       b. 15/20 c. 13/33 d. 27/28 

 

86)     Which of the following is not equal to others? 

 hyT iliKAW ivc̀oN ikhVI bwkIAW dy brwbr nhIN hY? 

 a. 6/8     b. 12/16 c. 27/25 d. 18/24 

 

87)    Which of the following fraction is the smallest? 

 hyT iliKAW ivc̀oN ikhVI iBMn sB qoN CotI hY? 

 a. 7/8  b. 9/8  c. 3/8  d. 5/8 
88) 1 ru: 5 pYsy dw iBMn rUp 1.5 ru: hY[( shI /glq) 
     The decimal form of Rs 1 and 5 paise is Rs 1.5. ( true/fase) 

 

  89)  iek̀ iqRBuj dIAW ____ BujwvW huMdIAW hn[ ( 2 /3/4/5) 



            A triangle has _______ Sides.    ( 2 /3/4/5) 
  90)  ivAMjk n - 2  iv`c _____ ie`k cl hYY [ ( 2/ -2/n/x) 

          In expression, n -2 - is a variable. ( 2/ -2/n/x) 

  91)   n dy dug̀xw leI ivAMjk n+2 hovygw[ ( shI/glq)  
 Expression for 'twice of  n' will be  n+2. ( true/false) 
  92)  jykr ie`k pYn dw mùl 5 ru: hY, qw 6 pYnW dw mùl kI hovygw[ 

        If cost price of one pen is rupees 5, what will be the cost price of such 6 pens? 

(a)  ru:11          (b) ru:15         (c) ru:30         (d) ru:40 

  93) jykr iek̀ ikqwb dw mul̀ 30 rupey hY, qW 10 ikqwbW dw mùl kI hovygw[ 

         If cost price of one book is rupees 30, then what will be the cost price of such 10 books? 

(a) 40         (b) 400         (c) 300         (d) 500 

94) jykr svyr dI sBw iv`c iek kqwr iv`c 10 bc̀y KVHy hn, qW ds̀o iqMn kqwrW iv`c ikMny b`̀cy      
   KVHy hoxgy? 

     In morning assembly if there are 10 students in one line, then how many students will               be 
there in three lines? 

(a) 40         (b) 400         (c) 30         (d) 500 

95)  sMiKAw b ivc̀ 3 joVxw leI shI ivAMjk cuxo[  
        Choose the correct expression for 'add 3 to number b'.  

(a) 3+ b            (b) 3b                  (c) b-3              (d)b/3  
96) Longest chord of a circle is: 
       uZeo dh ;G s'A tZvh ihtk j[zdh j?L 

   a)   ftnk;(Diameter)   b)  noX ftnk; (Radius)  c)  bzp(Perpendicular)       
                 d)  ienHW ivc̀oN koeI nhIN (none of these) 

 

97)  j/m fbfynK ftZu'A fejVk eEB ;jh j?<                      
Which of the following statements is true? 
(a) -13 > – 8 – (-6)                                      (b) -5 – 4 > -12 + 2 

(c) (-8) – 3 = (-3) – (-8)                              (d) (-5) – (-2) > (-2) – (-5) 

98) j/m fbfynK ftZu'A fejVk i'Vk ;fj^nGki ;zfynktK dk j?<                  
Which of the following is a pair of co-prime numbers? 

(a) 8, 45      (b) 3, 18           (c) 5, 35             (d) 6, 39 

99) j/m fbfynK ftZu'A fejVk eEB ;jh Bjh j?<                         
Which of the following is a false statement? 
 

a)   
1

7
<

3

14
          b)     

5

8
=

15

24
          c)       

3

4
=

6

16
         d)    

5

12
>

2

6
 

100) fdZs/ fuZso ftZu, SkfJnk nzfes ਕਿਸ ਕ ਿੰ ਨ ਦੁਆਰਾ ਦਰਸਾਇਆ ਜਾ  ਕਰਹਾ ਹੈ   

In the given figure, the shaded region is represented by which of the following fraction ? 

a)   
4

12
          b)     

5

12
          c)       

5

24
         d)    

4

24
 

 



Part-B( 2 Marks questions) 
1) coxW ivc̀ jyqU aumIdvwr nMU 7,26,249 votW imlIAW Aqy ausdy nzdIkI ivroDI nUM   5,26,351 votW, 

qIsry aumIdvwr nMU 45460 votW peIAW[jykr 2285 votW ^rwb hoeIAW qW aus ielwky iv`c kùl 
ikMnIAW votW peIAW hn? 

      In an election, the winning candidate got 7,26,249 votes. His nearest rival got 5,26,351 votes and 

third candidate got 45460  votes. If 2285 votes were declared invalid. Then what was the total 

number of votes polled in that constituency? 

 

2) qrqIb bdlky hl̀ kro[  Do the following calculation by suitable rearrangements. 

    1 + 2 + 3 + 4 + 896 + 897 + 898 + 899 

3) idq̀y hoey cwr AMkW 3, 0, 7 Aqy 9 dI vrqoN krky cwr AMkW dI v`fI qoN v`fI Aqy CotI qoN CotI sMiKAw 
pqw kro? 
Using  given four digts 3, 0, 7 and 9 write the greatest and smallest four digit number. 

4) Find the value of 7998 × 56 + 7998 × 35 + 9 × 7998 

      mul̀ pqw kro: 7998 × 56 + 7998 × 35 + 9 × 7998 

5 ) The digits 9 and 3 of the number 49635 are interchanged. Find the difference between the 
original number and the new number. 

sMiKAw 49635 ivc̀ jykr AMk 9 Aqy 3 dw sQwn bdl idq̀w jwvy qW pRwpq hoeI sMiKAW Aqy 
mUl sMiKAw dw AMqr pqw kro[ 

 

6) FùkvyN gux dI vrqoN krky 738 × 103 dw mùl pqw kro[ 
  Using suitable properties find the value of 738 × 103  

 

7)  ie`k Sihr dI AbwdI 450772 hY[srvy qoN pqw lìgAw ik hryk 14 ivc̀oN iek̀ ivAkqI AnpVH hY qW 
ds̀o ik Sihr iv`c kul̀ ikMny ivAkqI AnpVH hn? 

        Total population of a city is 450772.From  a survey it is observed that 1 person from a group of 

18 persons is illiterate, then tell how many people are illiterate in the city? 

8) koeI ryKw KMf AB iKc̀o[A Aqy B dy ivckwr koeI ibMdU C lau[AB, BC Aqy AC dI lMbweI mwpo[  

   kI AB = AC+CB? 

            Draw any line segment, say AB. Take any point C lying between A and B. Measure the lengths 

of sides AB, BC and AC. Is AB = AC+CB? 

 

9)  qusIN ck̀r dw ikMnHW Bwg GuMm jwEgy jykr qusIN pC̀m vl̀ mUMh krky KVy ho qy GVI dI idSw ivc̀ GuMmky  
  pUrb  vl̀ mUMh kr lvo? 

What part of revolution will you turn through if you are standing facing west and turn clockwise 

to face east? 

 

10) AMgryjI vrnmwlw dy auh AK̀r ilKo jo lMb ryKwvW nwl bxdy hn? 

Write the alphabets of English which are formed by joining perpendicular lines? 

11) Find the value of the following : hyT idìqAW dy mùl pqw kro:  

i)  -80 + 0 + (-90)                          ii).      1+ 2 + 3 + (-1) + (-2) +(-3) 

iii)     -11 + 111                                    iv)0 – 2 - (-2)                                 v)     1 + (-2) +(-3)+4 

12.   If  x : 6 =  55 : 11, then find the value of x 

    jykr  x:6 = 55:11 qW x dw mu~l pqw kro[ 



13. If cost of 2 Kg Apple is Rs 60 and 5 Kg Watermelons is  Rs15, then find wether all the 

four terms in proportion? 

    jykr 2 iklo syb  ru: 60 dy hox Aqy 5 iklo qrbUz  ru:  15 dy hox qW ds̀o ik cwry rwSIAW smwn 
Anupwq hn? 

14. If 4 Dozen Bananas cost Rs 60, then how many Bananas can be bought in Rs 15? 

    jkry 4 drjn kyilAW dw mul̀ ru:  60 hY qW ru:  15 ivc̀ ikMny kyly KrIdy jw skdy hn? 

15. If Rahim sold 2 Kg Apples for Rs 60 and Roshan sold 4 Kg Apples for Rs 120, then who 

sold Apples at cheaper price? 

    jkry rhIm ny 60 ru: dy 2 iklo syb vycy Aqy roSn ny 120 ru: ivc̀ 4 iklo syb vycy qW iksny ssqy 
syb vycy? 

16. What are first and fourth terms of proportion known as? 

          smwn Anupwq iv`c pihly Aqy cOQy pd nUM kI kihMdy hn?  

17. If there are 73 holidays in the year 2019, then find the ratio of holidays to total number of 

days in a year. 

jy swl 2019 iv`c 73 CùtIAW hn qW Cut̀IAW dw swl dy kùl idnW nwl Anupwq pqw kro[ 

18. Solve: h̀l kro:   23.5 + 0.47 - 12  
19. If the length of a pencil is 18 cm and its diameter is 8 mm, then find the ratio of the 

diameter of pencil to its length. 

jyy pYnisl dI lMbweI 18 sm hY Aqy iesdw ivAws 8 immI hyY qW pYnisl dy ivAws dw iesdI 
lMbweI nwl Anupwq pqw kro[ 

20. If length of lizard is 20 cm and length of crocodile is 4 metre, then can you say the length 

of crocodile is 5 times the length of lizard?  If not, then write the correct answer? 

jy iCpklI dI lMbweI 20 sm Aqy mgrmC̀ dI 4 mI hovy qW kI mgrmC̀ dI lMbweI iCpklI dI 
lMbweI dI 5 guxw hY? jykr nhI qW shI aùqr kI hovygw?  

21) The ratio of 8 hrs to 2 days is: 

     8 GMty dw 2 idnW nwl Anupwq: 

         

22) In a class of 60 students, there are 40 boys.  Find the ratio of girls to the total number of students 
     60 ividAwrQIAW dI jmwq ivc̀ 40 lVky hn[ lVkIAW dI sMiKAw dw kùl ividAwrQIAW nwl 

Anupwq pqw kro? 

 

23) The ratio of 90 cm to 1.5 m is: 
90 m dw 1.5 mI nwl Anupwq:  

 

24) When 800 is divided in to the ratio of 3 : 5, then what will be the two values? 

800  nUM 3:5 ivc̀ vMf ky ikhVy do mùl pRwpq huMdy hn? 

 

25)  If the cost of 1 dozen pencil is ₹ 60, then cost of 4 pencils is: 

     jy 1 drjn pYnislW dI kImq ₹ 60 hovy qW 4 pYnislW dI kImq hY:  

26) Find the ratio of 1 dozen to 1 score is 
1 drjn dw 1 koVI  nwl Anupwq pqw kro[   

a. 3 : 5 (b) 5 : 3  (c) 12 : 24  (d)  24 : 20 

27) Which of the following are in proportion? 

     hyT iliKAW ivc̀oN ikhVy smwn Anupwq ivc̀ hn ? 

a. 10, 12, 6, 5       (b)  6, 10, 12, 5 (c)  5, 6, 10, 12 (d)  5, 6, 12, 10 

28) If distance travelled by a car in 3 hrs is 120 kms, then distance travelled by car in 5 hrs is: 



jykr iek kwr 3 GMty ivc̀ 120 ikmI  dI dUrI qYA krdI hY qW kwr duAwrw 5 GMty iv`c qYA kIqI dUrI 
brwbr hY: 

a. 200 km  (b)  160 km  (c) 100 km (d) 150 km 

29) The ratio equivalent to 18 : 12 is 
     hyT iliKAW ivc̀oN ikhVw Anupwq  18:12 dy brwbr hY 

a. 2 : 3  (b) 3 : 2  (c)  5 : 1  (d)  1 : 5 

 

30) Divide 16 into 1 : 3 

    16 nUM 1:3 ivc̀ vMfo[ 
     31) i/eo d' ;zg{oB ;zfynktK dk i'V ^17 j? ns/ T[jBK ftZu'A fJZe ^9 j? sK d{;oh ;zg{oB ;zfynk j?L                      

If the sum of two integers is -17 and one of them is -9, then find the other integer. 

1. hyT iliKAW dy auq̀r idE: 
1. iek̀ ibMdU ivc̀oN ho ky ikMnIAW ryKwvW iKcIAW jw skdIAW hn? ___________ 
2. do ibMdUAW ivc̀oN ho ky ikMnIAW ryKwvW iKcIAW jw skdIAw hn? ___________ 

Answer the following 

1) How many lines can be drawn passing through a point?______ 

2) How many lines can be drawn passing through two points?________ 

 
2. idq̀y igAw koxW dI pRkwr ilKo: 

write the type of given angles. 

 
 
 

3. fJZe iwks ftZu 20 w[zv/ ns/ 15 e[VhnKhn[hyT iliKAW dw An[gks gsk eo'< 

1)e[VhnK dh ;zfynk dk muMifAW dh ;zfynk Bkb 

1. e[VhnK dh ;zfynk dk e[b ftfdnkoEhnK Bkb 

There are 20 boys and 15 girls in a class. Find the ratio of the following: 

1) Number of girls to the number of boys 

2) Number of girls to the total number of students 

 

4.  hyT iliKAW ivc̀oN ikhVI iBMn vf̀I hY?Which of the following  fraction is greater? 

a)  16.5 or 16.05 

b) 0.1 or 1 

 
5. oki{ B/ 150 o[gJ/ ftZu 10 g?B ns/ wBh B/ 84 o[gJ/ ftZu 7 g?B yohd/.gsk eo' fe; B/ ;;s/ g?B yohd/ jB. 

Raju bought 10 pens in Rs 150 and Mani bought 7 pens in Rs 84. Who bought the cheaper pens? 

 

6. whBk ns/ ;zrhsk d/ ftZu 20 g?BK B{z 3L2 ftZu tzv'< 
Divide 20 pens between Meena and Sangeeta in the ratio of 3:2. 



7. iek̀ pRWq ivc̀ swl 2002-2003 ivc̀ 7,43,000swiekl vycy gey[swl 2003-04 ivc̀ kùl 8,00,100 
swiekl vycy gey[ikhVy swl ivc̀ swiekl izAwdw vycy gey Aqy ikMny? 
In a state, 7,43,000 cycles were sold in year 2002-03 and 8,00,100 cycles were sold in year 2003-04. 

Find in which more cycles were sold and how many more were sold? 

39) hyT idq̀IAW vsqUAW dw Bwr Awm qOr 'qy iks iekweI ivc̀ hovygw? 

     In which unit the weight of the following items will generally be taken? 

(1)cwvl  jW kxk ( Rice or Wheat) =……………….. 

(2) dvweI dI golI ( Medicine pills)=………………… 

(3) dùD jW GI (Milk or Ghee)=………………….. 

(4) iek̀ Sihr dI dUsry Sihr qoN dUrI (Distance between two cities)=………………….. 

(5) kp̀Vw( Cloth)=…………………… 

40)   hyT ilKy B{z dPwbt o{g ftZu fby'( write the following in Decimal form): 

          23 + 
2

10
+ 

6

1000
    

41)    iek̀ kmIz isaux leI 2 mI 15 sm kp̀Vw cwhIdw hY[ 40  mI kp̀Vy ivc̀ ikMnIAW kmIzW bxweIAW jw 
skdIAW hn  Aqy ikMnW kp̀Vw bwkI bcygw[ 

             2m and 15 cm long cloth is required to stitch one shirt. How many shirts can be stitched in 40 m long 

cloth and how much cloth will be left? 

42)     iek̀ brqn ivc̀ 4 iltr 500 fwHbhH djhA j?. 25 fwbh  ;woEk tkb/ fezB/  glws ies Bkb Go/ ik ;ed/ 
jB< 

              A utensil has 4 litre and 50 ml of curd in it. How many glasses of capacity 25 ml can be filled  with curd 

filled in this utensil? 

43) KwlI QwvW Bro: 
   a)   7

10
 - ____ = 3

10
 

   A) ____ +   5

27
 - ____ = 12

27
 

 
 
44) j/m fdZs/ gq;aBK d/ T[Zso fdTL^ 

I. eh ;kohnK gqkfeqse ;zfynktK g{oB ;zfynktK th jB< 
II. eh ;kohnK g{oB ;zfynktK gqkfeqse ;zfynktK th jB< 

III. ;G s'A CotI g{oB ;zfynk fejVh j?. 
IV. ;G s'A tZvh g{oB ;zfynk fejVh j?< 

Answer the following questions: 

1) Are all the natural numbers whole numbers? 

2) Are all the whole numbers natural numbers? 

3) Which is the smallest whole number? 

4) Which is the greatest whole number? 



45) j/m fdZs/ eEBK ftu fejV/ eEB ;Zu jB ns/ fejV/ M{m jB< 
.               1)  gqkfeqfse ;zfynk 1 dk e'Jh fgZS/so BjhA j[zdk. 

   2) 0 ;G s'A S[Nh g{oB ;zyfnk j?. 
State whether the following statements are true or false? 
    1) there is no predecessor of natural number 1. 
    2) 0 is the smallest whole number 

46) Y[et/A eqw Bkb r[DBcb gsk kro[Using suitable arrangement, find the following product:                    
4x 166x 25 

4-Marks 

1)  Match the Column A with B: ekbw A ns/ B dk fwbkD eo' 
a)      Divisible by 3(   3 Bkb Gki:'r) 1.      61809 

b)     Divisible by 4 (  4 Bkb Gki:'r ) 2.      6205 

c)     Divisible by 5(  5 Bkb Gki:'r) 3.      7221 

d)    Divisible by 11(11Bkb Gki:'r ) 4.      9532 

 

2) Match the  coulmn: ekbw dk shI fwbkD eo' 
a)      Add 7 to p (   p ivc 7 joVnw) 1.      7p 

b)     Subtract 7 from p (   p ivcoN 7 Gtwauxw) 2.     p÷7 

c)     Multiply p with 7 (   p nwl 7 nUM guxw krnw) 3.      p×7 

d)    Divide p by 7 (   p nUM 7 nwl Bwg krnw) 4.     p+7 

 
3) ftnzie fby'< 

a. y B{z 5 Bkb r[Dk eoe/ T[Zso B{z 16 ftZu'A xNkT[Dk. 

b. Y B{z ^8 Bkb r[Dk. 

Write algebraic expression for the following? 

a.) multiply y by 5 and then subtract 16 from the product. 

b) Multiply y by -8 

4)rPIk ny iek̀ GMty dw 3/6 Bwg ksrq kIqI aqy roihq ny ie`k GMty dw 3/4 Bwg ksrq kIqI? iksny 
izAwdw smW ksrq kIqI? 

Rafiq exercised for 3/6  of an hour while Rohit exercised for 3/4 of an hour. Who exercised for a loner 

time? 

5) Solve: hl̀ kro: 

i) 3 - 
12

5
                               ii)1

1

3
 +2

2

3
 

6) Nandini's house is 9/10 km from her school. She walked some distance and 

then took a bus for 1/2 km to reach the school. How far dis she walk? 
nMdnI dw Gr ausdy skUl qoN 9/10 ik.mI. dI dUrI 'qy hY[auh kuJ dUrI pYdl qYA krdI hY Aqy iPr 1/2 ik.mI. 

dI dUrI bs̀ duAwrw qYA krdI hY[ auh ikMnI dUr pYdl c`ldI hY? 
7) rwjU ny iek̀ pusqk 35.65 ru: dI KrIdI[ ausny dukwndwr nUM 50 ru: idq̀y[dukwndwr ausnUM ikMny rwSI vwps 

krygw? 



Raju bought a book for Rs 35.65. He gave 50 Rs to the shopkeeper. How much money shpokeeper will 

return to Raju? 

8) NhBk e'b 20 whNo 5 ;?ANhwhNo bzpk eZgVk j?. T[; ftZu'A T[; B/ 4 whNo 50 ;?ANhwhNo eZgVk godk 
pDkT[D bJh eZN fbnk. NhBk e'b j[D fezBk eZgVk pZfunk<           

Teena has 20 m 5 cm long piece of cloth. she cut 4 m and 50 cm cloth for stitching a curtain. How long 

piece of cloth Teena is left with? 

9) AkwS ny 10 ik. gRwm sbzI KrIdI[ies ivc̀ 3 ik. gRwm 500 gRwm ipAwz, 2 ik. gRwm 75 gRwm tmwtr 
Aqy bwkI AwlU hn[AwlUAW dw vzn pqw kro[ 

Akash bought 10 kg vegetables. Out of this  3 kg  500 gm isonions , 2 kg 75 gm is  tomatoes and rest is 

potatoes. What is the weight of potatoes? 

10) 6,8 Aqy 12 nwl Bwg hox vwlI iqMn AMkW dI sB qoN CotI sMiKAw pqw kro[ 
Find the smalesst three digit number which is divisible by 6, 8 and 12. 

11)     SuBm ny Awpxy kmry dI kMD dy  
2

3
  Bwg nUM rMg kIqw[ausdI BYx mwDvI ny ausdI shwieqw kIqI Aqy kMD dy  

1

3
  

Bwg nUM rMg kIqw[auhnW donW ny iml ky e[Zb ikMnw rMg kIqw? 

       Shubham painted 2/3 of the wall of his room. His sister Madhavi helped him and painted 1/3 of the wall. 

How much total wall was painted by them together. 

12)hl̀ kro: ( Solve):8
1

4
−  2

5

6
 

13)H Write HCF of 18, 54 and 81. 

      18, 54 Aqy 81 dw m.s.v. pqw kro[ 

 14)       Match the followingLshI imlwx kro: 

multiple of 10 (10 dw guxj) 33 

multiple of 6 (6 dw guxj) 45 

multiple of 9 (9 dw guxj) 24 

multiple of 11(11 dw guxj) 40 

 

15H d' N?AeoK ftZu eqwtko tZX s'A tZX 850 fbNo ns/ 680 fbNo fwZNh dk s/b nkT[Zdk j?. T[; posB dh 
;wZoEk gsk eo', fijvh fJjBK d'jK N?AeoK d/ s/b B{z g{ok g{ok wkg ;e y[ 
   Two tankers contain 850 litres and 680 litres of kerosene oil respectively. Find the maximum capacity 

of a container which can measure the kerosene oil of both the tankers when used an exact number of 

times. 

    16)  c[ZN/ ns/ goeko dh ;jkfJsk Bkb j/m fby/ e'D bxwau: Draw the following angles with ruler and compass 

a. 300                  b. 1200    

 

6 nzeK tkb/ gqPB 
 

1) fe;/ d[ekBdko tZb'A S/ brksko fdBK ftZu t/uhnK rJhnK rfDs dhnK g[;seK dh ;zfynK j/mK do;kJh  
gJh j?:  iehnW AMkiVAW  B{z SV rqkc d[nkok do;kT[. 



Following table shows the number of math books sold by a shopkeeper in 6 consecutive days. draw a 
bar graph for this data.                                 

 
 

2) fe;/ fgzv ftZu ;oe; bZrh j'Jh j?. ;'wtko s'A P[Zeotko sZe ;oe; d/yD nkJ/ pZfunK dh frDsh 
fuZsorqkc d[nkok do;kJh rJh j?. j/mK fdZs/ fuZsorqkc B{z fXnkB Bkb gVQ e/ T[Zso fdU.           
                                                        

;'wtko  
 

  wzrbtko   

p[ZXtko  
 

thotko 
 

P[Zeotko  
 

T/) wzrbtko Bzzzzz zz z{ fezB/ pZu/ ;oe; d/yD nkJ/<  
n) fe; fdB ;G s'A tZX pZu/ ;oe; d/yD nkJ/ ns/ fezB/< 
J) ;'wtko ns/ p[ZXtko B{z e[Zb fezB/ pZfunK B/ ;oe; d/yh< 
There is a Circus show in a village. Number of children who are coming to see the circus from Monday to 
Friday are shown in a Pictograph. Answer following questions by reading Pictograph. 

                                                         Symbol-          = 25 Children 

Monday 
 

 Tuesday  

 Wednesday 
 

 Thursday 
 

Friday 
 

a. How many children came on Monday to watch circus? 
b. On which day maximum number of children came and how many? 
c. Total number of children who watch circus on Monday and Wednesday? 
 

3)  kYQrIn ny iek̀ pwsw ilAw Aqy ies nUM auCwln qy pRwpq AMk nUM ilK ilAw ausny ieh ikRAw nUM 40 vwr 
duhrwieAw Aqy hryk vwr pRwpq hoeI sMiKAw nUM hyT ilKy Anuswr iliKAw 

 

fdB(Day) 
;'wtko( 

Monday) 

wzrbtko 
(tuesday) 

p[ZXtko 
(Wednesd
ay) 

thotko(Thur

sday) 
P[Zeotko(F

riday) 

PBhtko(S

aturday) 

t/uhnK rJhnK g[;seK dh 
;zfynk (No. of books 

sold) 

65 40 30 50 20 70 

;ze/s :        =  25 pZu/ 



 
iek̀ swrxI bxwE Aqy AMkiVAW nUM imlwn icMnH dw pRXog kr ky ilKo, hux pqw kro  

1. sB̀ qoN Gt̀ vwr Awaux vwlI sMiKAw 
2. sB̀ qoN vD̀ vwr Awaux vwlI sMiKAw 
3. smwn vwr Awaux vwlI sMiKAwvW 

Catheriene drew a dice 40 timesand noted the number apperaing each time as shown below: 

Make a table and enter the data using tally marks. Find the answer that appeared: 

 
1. The minimum number of times 

2. The maximum number of times 

3. Find those numbers that appear an equal number of times 

(3) 500 whL bzpkJh Aqy 200 m cOVweI tkb/ fJZe nkfJskeko plwt qy 8 rupey pRiq 700 vrg mItr dI dr 
nwl    twielW lgvwwaux dk Krc gsk eo'< 
FFind the expenditure of tiling the floor of a rectangular plot 500 m long and 200 m wide at 

the rate of Rs 8 per 700 square metre. 

   
(4) fJe nkfJskeko prhuk fi;dh bzpkJh 175 whL ns/ u"VkJh 125 whL hY, d/ uko/ gk;/ 12 ru: gqsh whL dh 

do nkb tkV brkT[D dk e[Zb youk gsk eo'< 
   There is a rectangular park whose length is 175 m and breadth is 125 m. Find the 

total expenses of petting a fence around it. 

 
 

(5) Swienw 70 mI. Bujw vwly vrgwkwr pwrk dI iknwry–iknwry (cwry pwsy) 3 ck̀r 
lgwauNdI hY[ aus duAwrw qYA kIqI geI dUrI pqw kro[  

    Shyna takes 3 rounds along the sides of a square park with side 70 m. Find the 
distance covered by her. 

 
7) There is a 30 cm long piece of string, what will be the side of a regular Hexagon made by this  

    string? 

 30 sm lMbI ie`k qwr qoN iek̀ sm-Cy-Buj bxwieAw igAw hY[ iesdI iek̀ Bujw dI lMbweI pqw kro[ 

8)Five square flower beds each of sides 1m are dug on a piece of land 5m long and 4 m wide. What is the 
area of remaining part of land? 

5 whNo bzpkJh ns/ 4 whNo u"VkJh tkb/ fJZe nkfJskeko gbkN *s/ 1 whNo G[ik tkbhnK torkeko c[ZbK 
dhnK 5 fenkohnK pDkJhnK rJhnK jB. gbkN d/ pkeh fjZ;/ dk y/socb gsk eo' 



9) In a Mathematics test, the following marks were obtained by 40 students. Arrange these marks in a 

table using tally marks. 

a) Find how many students obtained marks equal to or more than 7. 

b) How many students obtained marks below 4? 

gixq dy iek tYst ivc̀ 40 ividAwrQIAW duAwrw hyT ilKy AMk pRwpq kIqy gey[ iehnW AMkW nUM imlwx icMnW 

duAwrw iek̀ swrzI ivc̀ drswau[ 

1) pqwkro ik ikMny ividAwrQIAW ny 7 jW ies qoN ijAwdw AMk pRwpq kIqy? 

2) ikMny ividAwrQIAW ny 4 qoN Gt̀ AMk pRwpq kIqy? 

 

8 1 3 7 6 5 5 4 4 2 

4 9 5 3 7 1 6 5 2 7 

7 3 8 4 2 8 9 5 8 6 

7 4 5 6 9 6 4 4 6 6 

10) svItI 75 mItr Bujw vwly vrg dy cwry pwsy dOV lgwauNdI hY[Aqy bulbul 60 mItr lMbweI Aqy 45 mItr 

coVweI vwly Awieq dy cwry pwsy dOV lgwauNdI hY[ikhVI Gt̀ dUrI qYA krdI hY Aqy ikMnI? 

Sweety runs around a square park of side 75 m and Bulbul runs around a rectangular park with length 60 

m and breadth 45 m. Who covers less distance and how less it was? 

11) find the perimeter of the given figures:idq̀y gey ic`qrW dw pirmwp pqw kro: 

 
12) vrg igx ky idq̀I AwikRqI dw KyqrPL pqw kro:Find the area of the given figure by counting squares:  

 

 


